Transiting Exoplanets

Page 22
Line 14/15, delete the phrase '... as they would be observed at a distance of 10 pc.'

Page 23
The sentence preceding Exercise 1.2 should read 'Jupiter emits almost twice as much power ... '

Page 25
In Figure 1.10 the text on the scale bar is blurred and should read 13" (as in the caption).

Page 27
In the last sentence of the caption to Figure 1.12 replace '... in the barycentric coordinates shown here.' with ' ... around the barycentre.'

Page 31
Figure 1.14, the label at the top right of the figure reads 'periapsis' whilst the caption refers to this point as the 'pericentre'. These two terms are equivalent.

Page 34
In the third equation on the page, the value of 


should be 4.3x10-8. 

Page 102
In Exercise 3.4 (and its solution) the phrase "light emerging close to the limb of the planet" should say "light emerging close to the limb of the star".

Page 102
In Figure 3.11 (b), the last number on the wavelength axis should be 1000, not 400.

Page 152
In Figure 4.15, the labels for Jupiter and Saturn have been transposed.

Page 169
In Figure 5.3, the downward and upward sets of arrows should be labelled as 'downward pressure force 

' and 'upward pressure force 

' respectively. 

Page 177
The caption to Figure 5.10(a) should read "The ultraviolet spectrum of HD 209458 showing ..."

Page 181
In Figure 5.14, the silhouette of the planet in the central column of the second row should be in the same location as it is in the central column of the first row (i.e. not offset to the right of centre).

Page 193
The second sentence in Item #8 should read 

. 

Page 242
The last sentence of the second paragraph of Section 7.5 should read "...will cause the transit timing of the more massive planet to change with time."

Page 244
To be consistent with line 1 of page 240, the sentence referring to Tc  in the second paragraph of Section 7.6.1  should read:

"Consequently, there will be a time lag between the planet being at the mid-point of its transit (the time that we measure) and the barycentre of the planet-moon system being at the mid-point of its transit (the time that we would otherwise predict and call Tc )."

Page 300
In the Answer to Exercise 3.4, for the logarithmic limb darkening law, the answer should be '1 - 0.116 - 0.036 = 0.85'. Then delete the word 'markedly' from the final sentence.

Page 307
In the answer to Exercise 4.3, for GJ581c & GJ581d, the eccentricity should be squared in the term (1-e2)1/2 on the bottom line of the calculations. So the RV amplitudes for these two planets should be 3.1 m s-1 and 2.7 m s-1 respectively, and the maximum total amplitude is therefore 20 m s-1.

